Efficiency vs dr

o 0.02
<
,0.018
>
.016
c
B.014
g
©.012
0.0
0.008

0.006
0.004

0.002

1.0

Ratio

3

—=— DQM_old

.| —— DQM_V0001_R000000001__Global__

CMSSW_X_Y_Z_ RECO

o
©

g
1

=
o
w

-1

1072

[ Efficiency vs dr (track,jet) |

1
TP min AR

5003
0.009
=
0.008
<
£.007
>
2.006
c
$.005
&
©.004
0.003
0.002
0.001

1.0

Ratio

AR

Efficiency vs pu

107t
(TP, jet)

50.02
o F
®.018F
@.016f
(] r
‘©.014F
=
®.012
0.0
0.008F
0.006
0.004
0.002F

.......................................

.......................................

1.9

Ratio
-
T

0.950

25 30 35




	Contents
	Page 1


